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Fractions & Percentages | < | | youmay wantto reas | sanme

What do | need to be able. || Heuwords

to do? | Percert: parts per 100 — written vsing the / symbol
—_— | Decimal a number in our base. 10 number system Numbers to the right of the decimal place. are called decimals
By the end of this unit you shouid be abke to: Fraction: a fraction represents how many parts of a whoke value you have
Equivakent: of equal vale
more, than 100 Reduce: to make smaler in value

* Increase or decrease. using multiplers
*  Express an amourt os a percentoge.
*  Find percentage chance

Growth: to increase/ to grow
Integer: whole number, can be. posttive, negative. or zero
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I : Invest: use money with the godl of t increasing n value. over time (Usually in @ bank)
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| Convert FDP o || Eraction/ Pescentage of amount (R :
70 out of 100 e £60 5
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| 70-100 O Tendedis B I £36 |
[ g a ¢ et I Remember |
| cakulator i 07 Be careful of recurrng decimals 1 Rsemember 07 of £60 = £6 i 3607 - 06 |
| m g 1 03333333 ||| 3-€0/_ 50/of £60- £30 5 |
| 9~ —>| S=D |Comert toadecmd > =02 I 607 of £60 - £36 60/ of £60 |
| The.dot cbore the. 3 I = 06 60 I
This wil give you the answer \ x 100 converts 1 =£36 |
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: Convert EDP < and > 100/ I: Percentage decrease: Mutlivlers H Percentage increase: Mulliplers |
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: | - 2427 Decreaseby 587 I Increase by 127 |
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i 14 tenths |
| e | 11007 -587 2427 gper Il 1007+ /<107 Mgl |
Ll - 140 {| 00— 058 = 042 4 Less than | :, 00+0- 112 4 Mrethan | |
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| Express as a 7 - Non-caulator Percert — per hindred |1 Express as a 7 - Calculator l
[ |
: [N ] ® O 7 ver every 10 are orange. This means that 70 per eue%gOIOO 707 I Rosie e |
Gre. or 4

| L ] | . 1. 433333...7 |
| ® e 0 H é—% —> O —>30—> 00— 4,5, |
| 27 per every 50 shaded | 34 per every 100 shaded - |
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I ll essiy to find ‘per Decimal percentages
| Denomingter 100 Equvdent fractions I hundred ae sti apercentoge | |
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| Percentage change " e appropriate method !
| | bought & house. for £180,000, 1 [ Choose appropriat thod |
| Tboughit @ phone for £200 later sold it for £216,000 'l og |
| Ol year later sod it for £125 [l : |
| 1007 ] The language. and wording o |

1007 p 1 \ | the question s the key
| i Ol vabes of change | £180000 I | |
I { £200 | 4 compare tothe [ ] [ |
I T [e— ORGINOL vabe = Il |
| Percentage loss o » jf:’m%e profit | Have. you represented the questonna | |
19,100 - _Difference invake . » |po 36000 110 . | bar model?

: 200 e [ Original vale ] Money made (profit vale) 180000 R I : Can you use & calculator? :




